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INSTRUCTIONS TO CANDIDATES |
Section A (30 marks) - ' Time: 45 minutes

Answer all the qiiestions in this section,
Calculators may not be used in this section.

- All working must be clearly shown. Omission of essential working will result in loss of marks.
The marks for each question is shown in brackets [ ] at the end of each question.
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1 Find the value of x in the diagram.
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2. Inthe dlagmm ACis paraﬂal to’ DF, The line GH intersects AC at B and DF at E. leen that :
BCT = 42°, CIF = 65° and BED = 100° calculate - S . }
“(a) DFI o . - ) G - l
. (b) ABE. : . SR
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' 5:‘ : " Answer (a) DEI =izt [2] Eé-f
. (D) ABE= b oo [1] =

3 _Inthe diagram FPQ is paralle] to RS. AﬁQ = (3x - 11)° and BRS = (x + 3)°. Find the value of x.
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4 ABis .parallel to DEF and CD is parallel to GEZ. ABC = 35° and reflex CDE = 228°.

Calenlate
(a) BCD,
(b) FEH.

Answer (@) BED =oevecesereenerns © [31

r

(b) FEH = ooooo.omerncenns 12}

(a) BFG,
M) AFE,
: (c) FEBG.

5 o the diagram AB is paallel to CD. Given that GDH = 38° and DHI = 117, calculate

¢ I

Answer () BEG = v © [1]

(B AFE = it ® [1]

. (¢) FBG = vemctivennin © 1]
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' 6 Tnthe diagram AB is parallel to CD. Find the value of x. . = A—=

& et ) E
ANSWET X = viriscinsimmenmssssnessesnenite [3]

7

§§7T= 689, Calculate

In the diagram PQ is parallel to RST and UV, PRU is parallel to TV, USV = 92°, URS = 121° and

(a) PSQ, | :
(b) RPS,
() STV,
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Answer (a) FSQ ;'.,.z......:'; e ® 1]

(b) RPS = cecnsirimrnns © (1]
| . o]
(d) SPQ = covivciturcens ® [1]

= i
1
s
74
-
-




'
.

ug agugy

8 Iu the diagram PQ is parallel to RS and AP is paralle] to BC‘ APR = 82°, CBQ = 55°

BPR = (2% + 15)° and reflex PRS =

y Find the values of x and ¥

Y

’

Answer x Zrennsennidin b s [2]
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8 {a} Onthe diagiam constrct, .
(1) the angle bisector of PQR o )
(ii) ‘a line passing through X and parallel to RS.
{(b) Mark with the letter ¥, the point of intersection. of the angle bisector and the parallel line
o “through X . )

Answer (a) (1), (i), (&) - [2] A
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10 (é)' On the line AB given below, construct
@) the angle CAB such that CAB = 42°,
(ii) the perpendicular bisector of AB, .

Measure and write down the length of AC,

. Answer (a) (.i), {#) (b)
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(b) Mark with the letter C,the point of intersection of AC and the perpendiculaf bisector of AB,

S (2]

AL v ;_ B
) Answer (b)AC = ..o cm [1]
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INSTRUCTIONS TO CANDIDATES |
Section B (30 marks) a : A Time: 45 minufes
. Answer all the questions in this section. A ' ' '
Calculators may be used in this section. i o :

1
2.
3. All working must be clearly shown. Omission of essential working will result in loss of marks.
4, The marks for each question is shown in brackets [ ] at the end of each question.

b

11 Find the value of x in each of the following.
(a)
==
; (b) ERah
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Answer (@) X = ..o ceetererberireaniens
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12 In the diagram AFB and CFD are straight lines. AFE = 18°, EFG = 90°, CFG = 3+ and
: AN I BFD = 5x°. Fmd g
q | D
e (@) x, ' :
(b) EFC, '
(©) AFD. ' ‘
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' Answer (a) xz 3]
(B)EFC = oo © [1]
(c) AFD

ceenreenienns © [1]
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(a) 00T,
) (b) ma " "
(c) reflex PWX.

13 In the diagram PRis paraillelbto SV and TX is parallel to U/Q. Given that WPQ =42°, TXW=89° "
-and UQR = 58°, calculate. l

g

A
o

58°

o
<

Answer (@) QUT = oo © [11
() UTE = covrorerreerememnsersnesereons © [1]
(c) reflex PWX = ... © [3]
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14 (a) Inthe diagram AB, CD and EF are parallel. Find the values of x and y.

[
>

{x— 11y

> 439

>C
(5x + 22)° > —
. = 2yB

(b} In the chagram AC is para]lel to DG, BJ is parallel to HI and AD is parallel to HF and JI.
Given that DAE = 63°, HFG = 57° and CBJ = 23°, calculate

@ EAB,
(i) HIJ.

Answer (@) X = .coviveiiveinnnnnns [2]

(B) (i) EAB = oo © [2]

i) HIT = © 2]
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15 (a) On the diagram construct. | : ot
(i) aline perpendicular to AB, passing through A,
(i) aline parallel to BC and passing through A.
- (b) The lin€ perpendicular to A intersects the line BC at D.
(i) Mark and label the point D on the diagram. - .
(i) Measure and write down the length of BD and the size of ADB.

Answer (a) (i), (D), (B) (i) | (2]

Answer (b) (i) BD = ...occecerevverrennn €I
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Amount saved
= $80 000 —~ $73 200
= $6800

Percentage discount

S6H00 1o

= 380 000
= 8.5%

i3 c@"%seggrjhe

O ammmiA H

= $6800 + (60 % $1433.50)
= $6800 + $86 010
= $92 810.

Extra cost incurred
= §92 810 ~ $80 000
= $12 810

{ii) Principal, P = $80 000 — $6800
= $73 200

Interest, I = $12 810; Time, T =5 yrs;
Rate, R =7
PRT
=Yoo
13200 X R X 5
100
R $12 810 x 100
$73200% 5
=35%
. the rate of interest cha.rged per annum is
3 S%.

512 810 =

15. (2) Total monthly basic salary in 2002
=12 % $5750
= $69 000

Bonus received in 2002
= 0.85% of $1.2 million
0 85
=700 x $1 200 000
= $10 200

* Total income in 2002
=$69 000 + $10-200
=$79 200

27T

1

®) () Total basic salary in 2602 is $69 000.

- Total basie salary in 2003
= 103.2% of $69 000
103 2
T X $69 000
= $71 208

(ii) Bonus received in 2003
= %78 484 — $71 208
= $7276
0.85% —

100%

$7276

085

% §7276 = 3856 COD

., the value of the sales in 2003 is $856 000.

90° -+ (3x° +25%) +23° + Tx° 1+ 42° = 360°
10x° + 180° = 360°
10x° = 180°

o 180°

X

(a) Draw the line JK para]lel to AC,
CIK = 42° (akt. Zs, AC /f JK)
KIF = 65° — 42°

=23°
DEI =23° (alt. s, JK /! DF)

(b) ABE = 180°~
= 80°

100° (int. Zs, AC #/ DF) -

Worked Solutions to Test Papers




@x -1 Ay 4 30 (e+3)°
A P R B

OPR = (x+ 3)° (cor. Zs, PQ I RS)

(3x - 11)° + (x + 3)° = 180° (adj. Zs on a str. line)
dx =180+ 8
4x = 188

i Sl
En il
B EY R

48°% p (48 E
K S i 48° F
228°

H

(a) Draw the line IJ passing through C and parattel

to AB. Produce FD to K.
BCT =35° (alt, Zs, AB I/ I)
CDK =228° - 180° (A straight angle is 180°)
= 48°

Worked Solutions to Test Papers

JCD = 48° (alt. £s, IV /I KF).
v BCD = BE7 + JCD
-=35° + 48°
=83° .
© (b) GED =48° (cor. £s, CD I GH)
FEH = 48° (vert. Opp. £.8)

) BFG=38°(alt. 25, AB// CD)
(i) AFE =38° (vert. opp. £s)
(i) CAG = 117° (vert. opp. £s)

FBG =180° — 117° (int. £, AB // CD)
=63°

At the paints E and F, draw two lines paralel to AB
as shown.
BEH = 51° (alt. /5, AB /f GH)
IFC = 42° (alt. Ls, I7 /] CD)
HEF = EFI (alt. Zs, GH I} IT)
= 108° — 42°
=66° ~
x° = BEH + HEF
= 51° + 66°
= 117°
sox =117

BT ol ot it

iy

Tt g <

T

e e




BT NS RS, -

T R0 Uy [ SIS

LRI A%eR ey
VOB Q

7. (2) PSQ=92° (vert. opp. £s)
(6) RPS =68° (alt. Zs, PU I TV)
- {e) STV =180° - 121° (int. Zs, PU// TV)
Y ,
(d) RPQ = 121° {corr. £, PQ /I RT)
RPS + SPQ =121°
68° + SPQ =121°
SBQ =121°-68°=53°

279

PBC =180° - 55° (adj. £s on a str. line)
=125° :
APB = 125° (alt. Ls, AP /I BC)
82° + (2x + 15)° = 125°
2% =125-82-15
=28

- 28 ) o
X = 2 =14
BﬁR2(2x+15)°

= [2(14) + 151° -
=43°

PRS = 180° - 43° (int. Zs, PQ // RS)
= 137° '

3 +137° = 360° (4 st a pt)

-%-y=223
y =223 X2 =446

Worked Solutions fo Test Papers




(a)(ii)

) AC=7.4cm

Worked Solutions to Test Papers
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BED =360° —295° (Ls at a pt)
= 65°

CDP = 180° - 65° (int. Zs, BC /i PQ)
=115°

PDE =240° .. 115°

=150

DEF = 180° - 125° (int, Zs, PQ // FE)
=355°

x° = DEF (alt. 2s, DE I FG)
= 55° :
Sx =55 :

F

AGD = 4x° (vert. opp. £s)
GDE = (180 — 4x)° (int. Zs, GA // DE)
Draw the line P through E parallel to AB,
PEB = 180° - 134° (int. s, AB // PQ)

= 46°
PED = (5x + 18)° — 46°

={5x—28)° °
PED + GDE = 180° (int. Zs, PQ /f GD)
(5x —28)° + (180 — 4x)° = 180°

x° =28°
Sox =28

b

—~R
c G ' .
GFB = 180° — 18° - 90° (adj. /s on a str. line)
=720
3x° + 72° + 5x° = 180° (adj. /s on a str. line)
8x = 180 - 72 .
‘8x = 108 :
= 108 _
x= s = 13.5,

Worked Solutions to Test Papers

Draw liné’ PQ through D parallel to BC and FE,




() EFC +90° - 3(13.5°)

= 49,5°
() AFD =180° - 5(13.5°) {adj. s on a str. line)
= 112.5° : S
R .
58N, .
7, Vv
(a) QUT =582 (alt, 2.5, FR // SV)
(o) UTY = 180° — 58° (int. /s, TX // UQ)
7 =122°
(c) At the points W and X, draw two lines parallel to
P}j as shown.
TXD =180° — 122° (int. Zs, CD // SV)
= 58°
WED = 89° - 58°
=31°

AWX =31° (alt. Zs, AR [/ CD)

PWA =42° (alt. Zs, FR I/ AB)

Reflex PWX = 360° — 42° — 31° (/s at a pt.)
= 287°

14. (2) BED = 43° (alt. Zs, AB /f CD)
(5x° + 22°) + 43° =360° (s atapt)
5y =360 - 43 -22

=295
= E =
x= S 59
DEF ={x-11)°
=59°—11°
= 48°

CDE = 48° (alt. Zs, CD // EF) )
2y° = 180° — 48° (adj. /s om a str. ling)
2y =132
= 132
r=3
=66

Worked Solutions to Tesf Papers

@ ADE =57° (com. /s, AD /I HF)

DAB =180° —57° (int. Zs, AC // DG)
_o=l23°
FAB =123°-63°
o= 60° )

(i) Draw line PQ through I parallel to AC.
Produce BJ to & and JTto R,
JOI =23° (alt. Zs, BC I 10)
HIP = 23° (corr. Zs, HI Il JQ)

. IRG = 57° (comr. Zs, HE Il IR)

JQ = 57° (com. £s, IQ I RG)

HIJ =180°-23° - 57° (adj. £ on a str. line)
= 100° - :

15. (@), () .

B

(b) (i) BD =785 em
ADB =135°
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51°

39°

=

(@) BAE=DAE <~——
=180°-51°-90° E
=39° 5
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() BEF = 50° (corr. Zs, AC /| DF)

(6) AGB + 18°:= 50° (ext £ = sum of int. opp. £5)
AGB = 50° - 18°=32°

(c) EAB + AEF = 180° (int. Zs, AC lf DF}
EAB + 67° + 50° = 180° .
EAB = 180° - 67° - 50°
= 63°
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Worked Solutions to Test Papers




